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1,270,000& =14 1,270
OY A &Y =&l 150,000 * 10CH 1,500
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401 AlZHIZL 200 33,000 22,000 11,000
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= 140,000
& 35,000
o 35,000
a3 2ol o] 26,570 25,370 1,200
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s 12,859
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= 14,571
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=l

e
10
> HU
=)

OFAEEX} Xl K&

590,000 x3&

EUR I

1,770

1,770
885

708

2,800

A1,030

S

Ao

92,400
46,200

9,240
36,960

100,000

AT7,600

S

A H

41,800
20,900

4,180
16,720

A\B,3%

41,800
41,800

48,19

A6,3%

-645-




RA: B2
Zu: FOOIRAUIA MB(PA/HHIR)
S ALY 2E EERSED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
OHEFOHI 2,200,900 *60%+ 12 23| 2,642
Dl 1,321
= 264
o 1,057
OLNEEERYS 180,300,000 +0.0165 2,975
D) 1,487
& 298
= 1,190
OMNEERES 180,300,000 +0.0105 1,84
Dl 947
T 189
2 758
ORI ENLY
100,000 x8F 15 12,000
Jl 6,000
& 1,200
= 4,800
O3 =2t 100,000 x8H * 153 12,000
Dl 6,000
& 1,200
= 4,800
O=UHEEdI 100,0002+8H + 12& 9,600
J| 4,800
& 960
= 3,840
02023 A30Ia=E 689,000 14 689
J| 345
& 69
i 275
201 LBt2AY| 35,000 29,705 5,2%
| 17,500
& 3,500
= 14,000
01 At 2teldl 35,000 19,705 15,29
OFAHLEN Z2)H 24
10,0002 *100E *132| 13,000
Dl 6,500
& 1,300
i 5,200
OXtaNYg T2 29
10,0003 100 * 123 12,000
Jl 6,000
= 1,200
= 4,800
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RA: B2
MH: Folo2AHIA HB(22/22AAR)
S ALY 2E EERSED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
O0tSEHAYE HAAHLSA ZTZ2 ) 2H
10,000& x50 *203] 10,000
J| 5,000
& 1,000
= 4,000
307 21201 A 600 0 600
J| 300
= 60
= 240
NIEEEEEN 600 0 600
©DZLH9 S3 PR LAl X
150,000 +4H 600
J| 300
T 60
= 240
401 AlIEH|ILL20HH] 5,000 5,000 0
J| 2,500
= 500
= 2,000
01 Al&H| 5,000 5,000 0
O™MAU=XIHE AlE EHHINA
5,000,000 *14] 5,000
J| 2,500
& 500
= 2,000
405 XHaHFSHI 10,000 10,000 0
J| 5,000
& 1,000
= 4,000
01 AL 2 EFSHI 10,000 10,000 0
OFAAHAL=EXHE == HIZ WA
10,000,000 & * 1A 10,000
J| 5,000
& 1,000
o 4,000
HAMAHLSE AL (XHAI) 86,500 62,500 24,000
101 124t 24,000 0 24,000
M4 I HZ2E2XSES 24,000 0 24,000
OFAAHL=KEH EXNEHS
3,000,000& +8H 24,000
201 et A 62,500 62,500
01 AtR222|Hl 62,500 62,500
OHMAHLUSEAIY 2Hb|
10,000&! 1,000 10,000

647~




RA: B2
MH: Folo2AHIA HB(22/22AAR)
S ALY 2E EERSED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
O=ordBRE 12
210,000 %2501 52,500
e RF AASAEIA XA 23,000 0 23,000
| 11,500
& 2,300
= 9,200
201 Let2A| 19,700 0 19,700
Jl 9,850
& 1,970
i 7,880
01 Ar22teldl 19,700 0 19,700
(OFsi=gell=mE= ot la]
200,000 2 «33| 1,200
Dl 600
T 120
= 480
OXtaRIIE T2 29
10,0002 x5 43| * 10 2,000
Jl 1,000
& 200
= 800
OAlE EE28 72
10,0002 *500JH*32] 15,000
J| 7,500
T 1,500
= 6,000
OANRES 7Y 50,000&*103] 500
| 250
= 50
= 200
OMAloIM & S0 HIZ
100,000& %105 1,000
J] 500
& 100
i 400
301 YPENZ 800 0 800
J| 400
= 80
o 320
11 HALABIXIRZ 800 0 800
OZ=zy AL =2l
8,000 & x5H x203| 800
| 400
T 80
= 320
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RA: B2
MH: Folo2AHIA HB(22/22AAR)
S ALY 2E EERSED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
405 RHakE S| 2,500 0 2,500
Dl 1,250
= 250
o 1,000
01 M= EFSHI 2,500 0 2,500
OLE= 2 HIZE 7€ 2,500,000 *14] 2,500
J| 1,250
T 250
= 1,000
PUMAA M AL (2 /A E 2 kOHA) 346,536 275,937 70,59
= 62,923
= 71,885
= 211,728
Pl A 22| 208,490 131,790 76,700
= 550
& 43,165
= 164,775
AZAHA 2el 15,020 18,040 A3,020
201 LBt AH| 14,540 15,940 A1,400
01 At 2teidl 14,540 15,940 A1,400
O3AEIME 2= 7L
5,000 *6007H4 3,000
ORIMAL KMES P&
10,000 *1, 100K 11,000
OfIM2IAE 222 FL
60,0002 +32/+*3& 540
202 (4| 480 2,100 A1,620
01 =LH0dBI 480 2,100 21,620
OAMH A XIT Y|
20,0003 =2F 122 480
SHSAE XIH 4,270 4,270
301 LBrENZ 4,270 4,270
14 J|Et2 43 4,270 4,270
OFMER(2)SAE SHHZE X8
502 *35 0 A+ 100 * 122 3,570
ORIMSZS(RY)SAE gzt XA
100,000 *70H 2 700
OESAE QHEIE MHS 7,000 7,000 0
& 7,000
301 YPtENZ 7,000 7,000 0
& 7,000
14 J|EtE 43 7,000 7,000 0
0OSSAE MYIIZE(4+ER3) NN
7,000,0002 *14] 7,000
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RA: B2
M SIMEA OIEBIR|(F/ABO|O0IH)
el AB, ojorBae (eh9): 22)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
14 JIEF2 A2 1,400 1,400 0
OAILIHZAIY ESH| 50,000 x28 1,400
= 700
a 700
HEl0PDISAE deaeld 29 3,400 3,500 A100
= 1,700
= 1,700
301 LetEed 3 3,400 3,500 A100
= 1,700
= 1,700
14 J|EtE A2 3,400 3,500 A100
OO0IZI0l MetuelA BEH|
50,0002 x68! 3,400
= 1,700
= 1,700
AHI XA E R MZAIR ESHIXIE 5,000 5,000 0
= 5,000
301 Lete M3 5,000 5,000 0
& 5,000
14 J|EIE &2 5,000 5,000 0
OAHITMABIAMZAIY BEHIX
50,0002 100 5,000
= 5,000
O2lo|SA 2 XNJHE EX 22 118,600 118,600 0
= 59,300
= 23,720
= 35,580
307 21201 A 118,600 118,600 0
= 59,300
& 23,720
= 35,580
05 QI2tREZ 118,600 118,600 0
ooelo| a2 NJLEH eS|
118,600,000 & x 14! 118,600
= 59,300
& 23,720
= 35,580
HMSAAH|(BHAM)(DIEHIIEH 1,777,853 1,759,920 17,933
= 92,265
Fay 3,600
J| 329,298
= 53,678
= 1,299,012
olEAdH|(EAHA) 1,564,111 1,558,950 5,161
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RA: 224
T BHSAAY|(RAL)OIEHIIEH
SR ol SAHY|(BAA) CERED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
= ®,265
= 3,600
J| 329,298
T 53,678
= 1,085,270
ClEAYHI(E2A) 475,247 483,142 AT,8%
101 2124 475,247 483,142 AT7,8%5
01 2= 273,362 270,592 2,770
O=U2R=+Y 10,9523 x52H #480 Al 2t 273,362
02 JIEt& 2 201,885 212,550 210,665
o= 201,885
OALHEH
900,000 x 14« 12& 151,200
OREgZ2 2= 50,0002« 14 =123 8,400
OBELZAN HRESH)
30,0002 x14F x 123 5,040
OE2AHA AAHEOYAL S EHHZ
200,000 x3F * 123 7,200
OD2LHINSY? BSHS(HY)
45,0002 x 1% »249 11,205
OZZLHOU SR &s&AS(FY)
90,0002 121162 10,440
OD2UHIUISZ ZIIEE FHIS(AD)
100,000 7 12& 8,400
Ot EE A XFAA (A =FHAX) 7,200 0 7,200
= 3,600
T 1,800
= 1,800
101 el24d| 7,200 0 7,200
= 3,600
& 1,800
o 1,800
02 JIEt& 2 7,200 0 7,200
O E S AAFE K H At
300,000 x2H *12& 7,200
ray 3,600
& 1,800
= 1,800
XSt SSSAH2A B8 =2 1,200 0 1,200
| 960
T 48
i 192
101 l24d] 1,200 0 1,200
Dl 960
= 48
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SA 2L
M AFHSHPHI(2AA)(DIEH/IIEN
SR ol SAHY|(BAA) CERED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
101 e124d| 100,010 98,530 1,480
03 SR (RIAL) 22N 100,010 98,530 1,480
OYAEHAAR (ZSRE)CI24H| 15,140
OmeLy 140,0002+ 120122 1,680
O+ 110,000 x1H =123 1,320
Oolg==g 60,0002« 1= 12& 720
OFJAUZ A 140,00024 *1 #1284 1,680
(OINE=E= 50,0002« 1= 12& 600
Oz 40,0002 * 1= 12& 480
O =-E= 50,0002« 1+ 12& 600
ozz2=e 1,200,000 1 23| 2,400
SEEESH 1,430,0002+12423] 2,860
OoRRERIAE
130,000 x1H* 10! 1,300
Ooly| elapab= 1,500,000 =1 1,500
OX LA SATNE AL (SR 0124d| 14,080
O 140,000 x1H =123 1,680
O&dAs 110,000 x1H+12& 1,320
OBIEIAY 60,0002+ 125+ 12 720
ORlg=g 50,0002 1Y =128 600
OFHZ A 140,0002 x 1B+ 12& 1,680
Os=g 40,0002 1 * 128 480
(@INEE= 50,0003 18 12& 600
O&2==g 850,000 x 15 +23| 1,700
OZEFOHI 1,400,0002 1 +23| 2,800
Ogxtra27/IIt=+g
130,000 x1Z» 10 1,300
Oelzt| elaoab= 1,200,000 =1 1,200
OHUMEAMX(BRE])0I24Y| 41,520
oJlez 2,500,000 2 2@ 10,000
OARE 140,0002 2B+ 122 3,360
O&d=g 110,0002 2+ 122 2,640
Oglasg 60,0002 2 *12& 1,440
OFsFL =N 140,000 x2Z * 122 3,360
OJrEe 160,000 x1H * 123 1,920
OXH=E 50,0002 2 12& 1,200
OfRIg=g 50,0002 2 12& 1,200
OFSI=E=; 1,250,000 +2H 23| 5,000
OHEFOHI 1,450,000 =2 *23| 5,800
Ol PN I= = =
130,000 x22H * 10 2,600
Osag3aolaz 1,500,000&*2H 3,000
O EHAI(SRE)eI24d| 13,500
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2N BHA
T WISAAHI(22AL)(OIEHIIED
SR ol SAHY|(BAA) CERED)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
= 336
= 1,344
oA 110,000 x2Z x 123 2,640
| 1,320
= 264
= 1,056
SLEESS! 60,0002 22+ 122 1,440
| 720
& 144
= 576
O&EMZ A 140,0002 2B+ 12& 3,360
Dl 1,680
& 336
= 1,344
OX&A== 50,0002 2« 128 1,200
Dl 600
& 120
= 430
ORIg=sg 50,0002 2 *12& 1,200
Jl 600
T 120
= 480
(OL=F=E=W)s] 1,300,000 x2H+23| 5,200
Jl 2,600
& 520
i 2,080
Ogxtw=2/It=E
113,000 2 x 10 2,260
Jl 1,130
& 226
= 904
OFST=tal= 620,000& x2H x23| 2,480
Dl 1,240
& 248
= 9P
Osagz ez 1,500,000&*2H 3,000
J| 1,500
& 300
= 1,200
oJrEY 150,0002 2B+ 12& 3,600
J| 1,800
T 360
= 1,440
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SA: BAHA
I BHSYAU|(2AL)OIEHIIE
o2l ClEAY|(EAHA) CERED)
SA - EH . SL(3) - MSAY - BAS 01l Ao e DS
ONaEE 22 39,949,000&0.0175 700
OMNEE 22 39,949,000&+0.0106 424
XIOHOHAHIE 2 OIAH|(EX) 246,386 286,455 A\40,069
J| 197,109
T 9,855
= 39,422
101 @124 | 246,386 241,420 4,966
J| 197,109
& 9,855
o 39,422
03 BRA(RIAHL)2E2XE S 246,386 241,420 4,966
OXIOHtA HIE| Q12 (B2 Q11| 246,386
o2z 2,200,480 x6H * 122 158,435
J| 126,748
T 6,337
= 25,350
OXHZAIH| 140,0002x6Z + 12& 10,080
Dl 8,064
= 403
= 1,613
OX R 140,000& x6H 122 10,080
J| 8,064
= 403
= 1,613
O&dA=Y 110,000 x6H = 122 7,920
J| 6,336
= 317
- 1,267
OAg 60,0003 x6H *12& 4,320
J| 3,456
& 173
= 691
OxZ=4Y 50,0002 6 *12& 3,600
Dl 2,880
& 144
- 576
OoRlgs4g 50,0002 6« 12& 3,600
J| 2,880
& 144
- 576
OFSFes = 824,660 *6H*23| 9,8%
J| 7,917
& 3%

-662-




)

Sk

Ok

=

RIS Sis
SRl ~Ns
A0 SAEAES e
Klo
E
-
S
Ql
e}
LED R|®
mzl
RIS
%mmm%mm%&m%%m%%uj%mmmmw:J;J% S 8 8egze b5 2 85YY
oS I - NS - & 6ond -~ A9 8qoanes B - NY oo & n FalNN
— o ol ~N oo — v o ol © o — © < Qlg|lg S © — - o N~ < ol ~|o|g
ANl | —
al
<l
=
H N WHm N W W LR LR = Uomw
Wl ] o) 0 =0 B T ®m L 7 28 @ ®
Y & B 3 3 g @ 2 29 s 5 €9
2 2 80 o i S ¢ oW ? @ e ¢ ® T
0 k) kS o = g o ®m ® 8 Wzm n ® 38
S| g g 3 g 5 x 8 8 8 28 3 8 Ry
_. ] > i - = 00 % m ) % % )
) g = 2 o g © 3 S 9
= o %0 N h o~ o
Ik iy
< = = i
i [
: 11 = E::% I o <
-~ ol = f10 o0 ull <J 30 =0
= S = R R I R
ol Sl | o g WY W @ ®
T 5 L; SplEmd H OB Dre@EF o» oM
4 ) 0 0 mlo|x e & » Yowdae o w F 0 |4
. <F E=] <F E l wlomlErox o x msaFn o < R~
= K 1o R ~ Q Tlokler ¥ a0 ~ o &ala Sw o= o KNIHIN
L ~ E 5 ) & T L < B =7 s O TR B v B
XU O O O O O w|&|f i O O O m o O™ O O O Il R =
. Y @ @ @ @lo
oSS o | K
X |8 R0 | U
il 4 |~
_!lJ

—£63-



2A:
R
=Taan

S9l:

HA)(DIEHDIEH)

2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
201 LBt2AY| 127,002 107,570 19,432
01 AFR2teldl 101,002 90,070 10,932
O=24% Il=l 300,000& x26H 7,800
OgLt2g| 93,202
Oget==| 40,600,000 *1A] 40,600
O=gt| 19,968,000« 14] 19,968
oadxt=z 17,724,000 3 =14 17,724
OL=2ly| 14,910,000 3«14 14,910
02 S32Z| 26,000 17,500 8,500
OXtgsX2eldl(8Ch)
26,000,000 3 «14] 26,000
202 048l 47,900 55,400 AT7,500
01 ZLHAI 47,900 55,400 AT,500
OII= LR 47,300,00024*141 47,300
OEANHASEE B2H DROIH|
200,000 3 600
203 R FAH| 20,840 20,000 840
01 J|22H AP FA| 6,000 6,000 0
OJ 222G AR FNH| 6,000,000 =14 6,000
02 FRIMMPRFEY| 3,200 3,200 0
OFRIHHRFEIY| 40,000 *80H 3,200
M EA2HSRFEYI 11,640 10,800 840
OEAHE I 490,000&*12& 5,880
ozze|u 480,000 x 123 5,760
Jl2dul(82AX L) 18,000 18,000
202 Ot 18,000 18,000
02 XL 18,000 18,000
OFH0YI 150,000 x10F * 122 18,000
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